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CBT Practice test model answers

External Auditing (EXA)

Practice assessment 1

Section 1

Task 1.1
[image: image2.png]In addition to cash handling activities, which of the following combinations of accounting systems are likely
to be subject to external audit?

‘Sales, trade receivables and trade payables

Purchases, trade payables and payroll

Sales, purchases and payroll

Purchases, trade recsivables and trade payables





Task 1.2

[image: image3.png]Select whether the following factors are likely to lead to the auditor assessing that there is an
increase or decrease in control risk.

“The allocation of responsibilties 5o that different personnel are responsible.
forthe authorisation, processing and recording of transactions
[Decrease Al

Management has a positive atitude and discipline towards controls and

ther enforcement.
[Decrease Al

‘The accounting staffare inexperienced and have a poor understanding of

i | v |
‘accounting principles. [Increase.





Task 1.3

[image: image4.png]For each internal control procedure use drag and drop to match the procedure with the risk mitigated.

Internal control procedure. Risk mitigated

urchase invoices matchedto rec Paying for goods not received

records priorto posting to the ledger

[Theft of inventory

Physical counts of inventory and reconciliation
With recorded amounts

[Purchasing goods from nautnorised suppliers

[Purchasing unnecessary goods






Task 1.4
[image: image5.png]For each procedure select whether it is a strength or weakness of the system.

‘The computerised payroll is processed weekly by Amelia who is also responsible for amending the standing
data details such as the addition of new employees and changes to wage rates

weamess |l

“The Managing Director, David Delaware, reviews the BACS listing of net pay details per employee and signs
the listing before authorising the Assistant Accountant, Marie, to transmit the details to the company’s bank.

[strengtn





Task 1.5

[image: image6.png]‘Select whether the results indicate that trade receivables and trade payables might have been
under or overstated.

‘The resuits show that, compared to the previous year:

Trage receivables has increased by 20% and revenue has increased by 5% [Overstated |+ ]

Trade payables has decreased by 10% and purchases has decreased by 7% [Understated Al





Task 1.6

[image: image7.png]For each of the objectives set out below, select the population from which the sample should be selected.

Obtain evidence of the existence of a non-current asset. [Non-current assetregister [l
Obtain evidence of the completeness of he trade payables balance. [Googs receivedrecoras IRl





Task 1.7

[image: image8.png]Use drag and drop to indicate which of Oak Ltd’s accounting records each of the reconciling items
‘should be checked to.

(i) Payment 31 March 20X9 by cheque Post year-end bank statement

i) Sales invoice 27 March 20X not accepted | G00ds retumed note

[Pre year-end bank statement [Goods despatch note





Task 1.8

[image: image9.png]‘Set out, in a manner suitable for inclusion in the audit plan:

() the auditrisks relating to the loan; and
(i) the procedures to be undertaken in order to ensure that the loan is properly classified and disclosed
in the financial statements.




[image: image10.png]() Risks
Inappropriate split between current and non-current liabilities.

Incomplete disclosure in the notes to the financial statements.

Going concem riskif company ails to comply with the terms ofthe loan.

Inflation of profits to ensure compliance with the interest cover requirement.

(ii) Procedures

Inspect loan agreement forterms and conditions.

Direct confirmation with lender of balance outstanding at the year end.

[Vouch loan repayments and interest to bank statements and cash book.

Reperform the calculation of the split between current and non-current liabilities.

Inspect notes to the financial statements to ensure disclosures in respect of the terms are complete.
Examine cash flow forecasts to ensure loan obligations can be met in the future.

Examine profit forecasts to ensure interest cover can be maintained in the foreseeable future|





This task will not be marked in the practice assessment.

Task 1.9

[image: image11.png]Decide whether or not the following errors need to be adjusted in order to issue an unmodified audit
‘opinion on the financial statements.

‘An overstatement of inventory amounting to £4,200 and an overstatement of receivables amounting to £3,800.

[Require to be adjusted -





Task 1.10

[image: image12.png]Set out below, in a manner suitable for inclusion in the audit plan, the audit procedures to be undertaken
in order to ensure that work in progress is fairly stated in the financial statements.




[image: image13.png][Vouch a sample of entries for materials to invoices.

[Vouch a sample of entries for wages/salaries to payroll records.

| Trace a sample of invoices to costing records.

Trace a sample of timesheetipayroll details to the costing records.
Reperform the overhead percentage calculation.

For a sample of contracts in progress at the year end compare actual costs:
- to contract price to identify losses;

- to budget to identify cost overruns and potential losses.




This task will not be marked in the practice assessment.

Task 1.11

[image: image14.png]In respect of this matter, select whether the audit junior should take no further action or refer to the
‘supervisor.

[Referto supenisor



 

Task 1.12
[image: image15.png]In respect of this matter, select whether the audit junior should take no further action or refer to the
‘supervisor.

[No further action




Task 1.13
[image: image16.png]Prepare extracts, suitable for inclusion in a report to the management of Media Ltd, which set out:

(a) the possible consequences of this

(b) the recommendations that you would make.




[image: image17.png]() Consequences
Equipment recorded in the register may not exist or may have been stolen
Equipment in existence, acquisitions or disposals may not be recorded.
Equipment may be fully written down but stil in use.

Equipment may be impaired and consequently overvalued.

Depreciation charges on the equipment may be inappropriate.

(i) Recommendations

Periodic reconciliation of

- physical equipment to registerto ensure completeness of recording;

- entries in the register to physical equipment to ensure existence and in good condition.
Reconciliation to be performed independent of custodian

Differences to be reported and investigated

Monitoring of procedures to ensure checks undertaken|





This task will not be marked in the practice assessment.

Task 1.14

[image: image18.png]For each of the following situations which have arisen in two unrelated audit clients, select whether or not
the audit opinion on the financial statements would be modified.

‘Alpha Ltd capitalised costs of £160,000 n respect ofrepairs and maintenance and included these costs in
non-current assets. The amount capitalised represents 30% of Alpha Ltd's profit before tax The directors
refuse to make any adjustments in respect of this matter.

[Modifiea v

‘There is a significant uncertainty about Beta Ltd's abillty to continue as a going concern. The directors of Beta,
Ltd have prepared the financial statements on a going concen basis and have fully disclosed the uncertainty
inthe notes to the financial statements.

[Notmodiied g




Task 1.15

[image: image19.png]Which one of the following is the appropriate person to whom the audit senior should report the matter?

[Vour fim's money aundering offcer wiout discussion wit Peter Nash. |l





Section 2

Task 2.1
[image: image20.png]Complete the statement below on the overall objectives of the external auditor in conducting an audit of
financial statements:

e overall aecies o e eemal udorare o otan assurance

‘about whether the financial statements are free from misstatement,
et st s e, ety enaing e ustoro [z oo el on

‘whether the financial statements are prepared in all material respects in accordance

with [an applicable financial framework




Task 2.2
[image: image21.png]‘State whether the following statements are true or false in respect of external auditors’ liability.

External auditors are liable to anybody who relies solely on the audit report on
financial statements when making investment decisions. [Fase B

External auditors may limit their iability to third parties ifthey include a
disclaimer ofliabiliy in their audit report. Froe





Task 2.3
[image: image22.png]Select which one of the following best describes the role of the International Auditing and Assurance
Board (IAASB) by ticking the appropriate box:

The 1AASB s responsible for:

‘Sefting auditing standards which are compulsory throughoutthe world.

Monitoring auditors to ensure that they comply with auditing standards.

Investigating and disciplining auditors who fail to comply with auditing standards

‘Setting auditing standards which faciltate the convergence of national and international auditing standards.





Task 2.4

[image: image23.png]Select whether the following factors are likely to increase, reduce or have no effect on the risk of
‘misstatement.

‘The eniity is committed to employing personnel with appropriate accounting and financial
reporting skills

‘The eniityis to be sold and the purchase consideration will be determined as a multiple of

reported profit. [increase

10

‘The eniity's management does not intend to remedy deficiencies in intemal controls identified

by the external auditor. [increase





Task 2.5
[image: image24.png]Select whether the following statements in respect of performance materiality are true or false.

Performance materiality should be set at a level below the level of materialiyfor the financial

statements as awhole. [True

Once established, performance materiality must not be changed as the audit progresses. [Faise I





Task 2.6
[image: image25.png]In each of the following circumstances select whether the external auditor is likely to place reliance or
place no reliance on interal controls.

A company where the processing of accounting transactions is underaken by one person [Noreriance 0

Acompany which has an intemal audit unction which monitors operational and financial controls. _ [Reliance [l

A company which has internal controls with a history of management override. [Noreriance 0





Task 2.7

[image: image26.png]For each of the following select whether they are a control objective, risk or control procedure.

‘Customers fail o pay for goods received. [Risk

All goods leaving the warehouse are invoiced. [Contrt objectve [l
‘Sequence check on despatch/delivery note numbers. [Control proceaure [l





Task 2.8

[image: image27.png]You are required to complete the following definition of internal controls by filling in the gaps using drag
and drop.

‘The process designed, implemented and maintained by those charged with governance, management and

other personnel,to provide| Reasonable ‘assurance aboutthe.

‘achievement of an entity’s objectives with regard to the reliabilty of Financial reporting .

effectiveness and eficiency of operations and compliance with

applicable. Laws and regulations

‘Absolute.

‘Accounting and reporting standards

‘Accounting records





Task 2.9
[image: image28.png]In respect of the information below, select the assertion for which that information will provide

assurance.

Date of he invoice

[Cutor

Description ofthe item purchased

[Crassitcation [l

Monetary amount

[Accuracy.





Task 2.10
[image: image29.png]For each of the following factors, select whether they will result in an increase or a decrease in sample size.

Anincrease in the auditor's assessment of risk of misstatement [ncrease Rl

Anincrease in the use of ofher substaniive procedures directed at the same assertion. _ [Decrease ]

Stratfication of the population being tested. [Decrease Rl





Task 2.11

[image: image30.png]For each of the procedures listed below select whether it is a test of control or a substantive procedure.

Comparison of the current year's revenue figure with the previous year's figure. [Substanive proceaure [l

‘Observation of the despatch procedures in respect of goods leaving an entity's warehouse. _ [Test of control |+ ]

Vouching of an addiion to non current assets to the supplier's invoice. [Substanive proceaure [l





Task 2.12
[image: image31.png]For each of the procedures listed below, select the type of CAAT which would be used to perform that procedure.

‘Comparison ofthe cost and net realisable value ofinventory items to dstermine the lower value. ~[Auditsotware [l

Input of data with false inventory code numbers to check thatthe system rejects such data. [Testdata |+ ]

Extraction of inventory balances over £5,000 in order to carry outfurther testing. [pudit somware Rl





Task 2.13

[image: image32.png]Select whether the following factors contribute to a strong control environment, a weak control
environment, or have no effect.

Management are competent and act with integriy. [strong.

Management has not made an assessment of the risk of fraud. [Weak |+ ]





Task 2.14
[image: image33.png]For each of the following descriptions select whether it represents a flowchart, internal control
‘questionnaire or internal control checkist.

Alisting of controls necessary to provide reasonable assurance of effective interal

‘control within a given transacion cycle. [Checkist |+ ]

Apictorial presentation of the processing steps within a given ransaction cycle. [Flowchart





Task 2.15
[image: image34.png]‘Select whether the following statements in respect of an external auditor's working papers are true or false.

Working papers are prepared by the extemal auditor because there is alegal requirementto
doso [Faise

‘The objective of working papers is to provide evidence thatthe auditwas planned and
performed in accordance with Infernational Standards on Auditing. [True

Warking papers should contain the name of the individual who performed the audit work and
the date itwas performed. [True
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